
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.29     1) 

Έχουμε   
2 2 2 2 2

α β γ 0 α β γ 0 α β γ 2α β 2α γ 2β γ 0                   

   
2 2 2

2 2 2α β γ 2 α β α γ β γ 0 1 2 3 2 α β α γ β γ 0                      

   14 2 α β α γ β γ 0 2 α β α γ β γ 14 α β α γ β γ 7                         

 

5.29     2) 

Έχουμε   
2 2

α β γ 0 α β γ 0         

2 2 2

α β γ 2α β 2α γ 2β γ 0            

 
2 2 2

α β γ 2 α β α γ β γ 0            

 2 2 23 4 5 2 α β α γ β γ 0            

 2 α β α γ β γ 50 α β α γ β γ 25                 

5.29     3) 

Έχουμε   
2 2

α β γ α β γ 0 α β γ 0            

2 2 2

α β γ 2α β 2β γ 2α γ 0           

2 2 2

α β γ 2α β 2β γ 2α γ 0            

 2 2 21 1 1 2 α β α γ β γ 0            

3
α β β γ β γ

2
        

5.29     4) 

Έχουμε  ΒΓ ΓΑ ΑΒ 0     

 
2 2

α β γ 0 α β γ 0          

2 2 2

α β γ 2α β 2α γ 2β γ 0            

 
2 2 2

α β γ 2 α β α γ β γ 0            

 2 2 22 2 2 2 α β α γ β γ 0            

α β α γ β γ 6         

 

 

 


